EARAROBEEIERT — 2 N— IBISH —F

2019548280 (B) 2EIF=4H

12R paEXy- A

1000AF

‘ [R1%] & ‘ [REBE] — | & (£) 21000 B

(18] E2
&

[A~&£] 1 7% 11,000,000 § 2 & :4,400,000 @ 3

2,800,000 B

4 7% 11,700,000 . 5 7% :1,100,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= # 5 | HUHE 2:12.9 4-7-3-4 | 36.7 [102.7| 7 466 | BIRE (ER)
1@l |7 FTXLY 57.0 o © | W eiL-y2y
L:Fq=TA2NT h B X1 —bN=2X () #B—-KL—->ya>@AqE77
. 4 5 | AfafE 2:13.0 2-3-3-2 | 36.9(101.8| 1 506 | =EESA (5EX)
2 7 T4+—X714> . 57.0 (1/2) (o) | EEEC
R:7—9T74—2 B:O-HTI H J—HrIr—L
s se_ o= 4o FEAEt : -11-9-1 Fh=— (EH)
3 ML P EPE S o4 = 2.(15?3.8 11-11-9-8 | 37.1| 94.3 | 8 <4+828) *;ﬁ_
L:xoinM0— BANZAMNT21—Fv— LRSS
N e R—1 : —8-6- NEER (EH)
alglis| 17100 (B] o7 i 2(.;/34.)9 6-8-6-5 |37.5| 92.8 | 14 :_9; e
L:gr—3I)F7> B:TOF7RST—2R FHE%S
N o7 | AEEIR 2:14.1 15-16-16-16{ 36.5 | 91.7 | 6 518 | FbA=— (i)
5(59 7NAT7 77— [B] 57.0 (1 1/4) (-8) %5@%—&[&
:d—=IKR7Ya—=b B:NY1T7y RNUXY HET77— L
— —ie ¢ . BERRA 14. 22— . . BEREfE— (EX)
sBl 6| 717> 1"O0—x [B] - T, oo |%.0) 8681 3 5_2;) HHELR
Z:7A7% B:U—TJINFai-l BXRAS
- -3 4 5 | BAUGAF 2:14.2 8-8-9-8 [37.5]90.7 | 9 490 | ALHAAA (ER)
7151(10 H)—=g33I /)L 55.0 (1/2) (-4) SHEE
L:v07x Bi4M47VI5—h 799577 — I
P 1) w 4 5 | FFPREKER 2:14.3 1-1-1-1 | 38.3| 84.9 | 4 406 | SEEEA (EH)
8 4 ILA—=T) & A55.0 (1/2) (-4) KEE
R:TI9r8%FY—F B:ILCETy R IV AEAAIS
o AHEEE 4. 56— . . EHEF (ER)
9 3| * FOKYZ #H 5 i 2714t;1 6-5-6-7 |37.9| 85.9 | 2 32) A
R:w>Ny&hTr B:STHh—F BN
= - G # o4 | HEEE 2:14.4 12-12-13-11| 37.4 | 88.8 | 13 | 500 |ZIIEZE (k)
10[7 14| S77EY Z 57.0 6 oy | AE—
Rigr—3UTL BTF—4—FrUZX FHh) Ty—1
S 3 # 6 | BRLRKA 2:14.6 14-14-14-14| 37.3 | 86.9 | 12 484 | IMEIIE (EH)
111713 V¥ B3 57.0 a 1/4) (o) | EAIBSE
R:F¥xvTToR70—7T B:T7AN RN
S A o6 | BEXLET 2:14.7 15-15-14-14| 37.4 | 86.1 | 15 | 498 |HERHEEZ (EH)
12/ 8l16| 7TV KT — L [B] A54.0 26 “2) AR =k — L 1 TR
LNAT—F—L B:aAT4—Fv> KA
. # o6 | FIRHER 2:14.7 12-12-12-11{ 37.7 | 85.8 | 5 472 | RS (EH)
130 12| TV7+—3>~ 57.0 (v¥) (+6) 1It—| FAssociation
R:FHh¥v7128 B:¥TI-TF4+>2X EESS
. > 5 | EHBZ 2:15.0 10-8-9-11 | 38.0| 81.2 | 10 | 520 |FAEMWS (R®)
1411 |74—48—%—X ) @ 10y | WELR—
LY RYJYIIR B:r—2—KIUZR ANEEHS
=K > 6 | HKEEB 2:15.6 4-3-3-5 [39.3| 74.6 | 11 490 | BRERR (ER)
EH 5|77~ KL [B] ~ 57.0 (31/2) (-2) %E%%E
xR THAANAN BiIZy T TI—"7 J=HrTp—L
5 4 7 | HlEs 2:15.9 8-5-6-8 |39.2| 72.0 | 16 | 470 |#HAME (EH)
16|11 2 J—IVIAIT ¥¢56.0 2 -2) (#%) ILEBRIE
LZ LR Y E—T BiAALATIVELX pAcie]
@ 71 L
) 49.4-36.9
NA>ZA L | 7.1-11.5-12.9-13.3-12.9-12.9-12.9-12.5-12.1-12.2-12.6
® I —F—@EBIERL
13=3r= 4(6,7) (5,8) (3,15) (2,10)-1-11(12,14)13-(9,16)
20—+ — 4,6(5,7) (2,3)8(1,10,15)11-(12,14)13,16-9
Gol=5r= 4,6(5,7,8) (2,3,15) (1,10,11)12,14(13,16)=9
40—+ — 4(6,7)8(5,15)3(2,10,11) (1,12,14) (13,16)-9
[ N3
H OB 8 1,870 714K 7-8 1,190H e E 4-4 3,030M RPEL:] 7-8-11 20,560
8 B 8 490 8-11 5,860 B = 7-8 2,810M B 8-7-11 133,010
7 150 7-11 1,340 | | B B 8-7 6,550
1 530M

ABICOVWTRDTEEERROODE. TR LIV,




